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All questions are compulsory.

T SHHTH 1 9 8 T SAfers) STRIT U9 € | Teish Y9 W 1 37k 2meifed # |
Question Nos. 1 to 8 are very short answer type questions. Each
question carries 1 mark.

T ShHIR 9 F 12 T oY ST T € | Tk Y9 W 3 37k meifed ¥ |
(I T AR ee-FHT 50 T ©)

Question Nos. 9 to 12 are short answer type questions. Each question

carries 3 marks. (Maximum word-limit of answer is 50 words)

T A 13 § 18 T 1™ I ¥ § | Yo I9 | STidieh faehed B |
T U9 W 4 37k Aeifed § | (ST I TfYshad se-HH 1 75 I ®)
Question Nos. 13 to 18 are long answer type questions. Each question

has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

TR RIS 19 § 24 T SrH ST TR © | T TR H Siaie fohed ¢ |
Tk U9 T 6 ek 3Teifed © | (ST i AfIhdq Tss-HIHT 250 < )
Question Nos. 19 to 24 are long answer type questions. Each question

has internal choice. Each question carries 6 marks. (Maximum word-

limit of answer is 250 words)
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Hid Sy o © ?

What is marginal utility?

fore AR # ag faeig aren S € 2

In which market is the commodity differentiated?
et aEqU Ry Ted € ?

What are called intermediate goods?

FEAAOT 3T 41 Bt © 2

What is transfer income?

1@ HET 1 360 SIIT |

Give an example of credit money.

form S 1 ki o Sk % €Y H ST I & ?
Which bank is known as the bank of banks?
foeneRita Tl o fAT -1 a9e ol ST Tl § 2

Which budget is best suited for developing nations?

TST%a =12 fohd hed © ?

What is a revenue deficit?

STHIHIT b S5Ie He hl TRYTYA hid T FHIHW fafan |

Write the definition and equation of consumer budget set.

I oo i a7 feasrand fafe |

Write three characteristics of Normal Price.

qohel BTl ITUIE d Fohel TR 3G H S T ST (FiE d14) |

Differentiate between Gross Domestic Product and Gross National

Product (any three).
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[3]
Y9-12 1 WISk 01 &g ST § 2 SRS hiforg | [3]

Does public debt impose a burden? Explain.

WA-13  9Rd § T 3T i TN | 3T el TG hicAsal shia-shia o € ?

fafau (15 am) | [1+1+1+1=4]
What are the main difficulties while measuring national income in
India? Write (any four).

3ar

OR

YRA k! AT 2T 1 gig Bq Mevdeh G ey (HIE =) |
Suggest some measures to improve national income of India
(any four).
UA-14  SAICH HTEHT 5k bt TAMT fAfEaa (g =) | [1+1+1+1=4]

Write the assumptions of production possibility curve (any four).

sTeqar
OR

=fte Td wafte srefars § o fafay (a6 =) |

Write the differences between Micro and Macro economics (any four).

Yy-15 GHI & STMUR R AR & =7 JHR adEy | [1+1+1+1=4]

Describe four types of market based on time.

arerar
OR
qoi AT SR i =1 TaRvand Sy |

Describe four characteristics of the full competitive market.
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U-16 T =9 Td YSivig =9 § iR fafau (#1E am) | [1+1+1+1=4]
Write the differences between revenue expenditure and capital
expenditure (any four).

HYdar
OR
TS1e o Geeeh i feafEu |
Write the components of budget.

UT-17 WO {1 U Giehiaeh G H i feafan (FE =) | [1+1+1+1=4]
Write the differences between standard money and token money
(any four).
3rerar
OR
Tk I qR1 yerd % T ferfan (g =) |

Write the merits of a good money material (any four).
Y9-18 95l o Y& dcdl ol faf@t (Fi 7m) | [1+1+1+1=4]
Write the main elements of budget (any four).

sTar
OR

g1 o e fAfEu (S8 aw) |

Write the objectives of budget (any four).

gya-19 o6 oo g W@ e o6t Al @t sren s (FE 87) |
[1+1+1+1+1+1=6]
Explain the credit control practices by the Reserve Bank (any six).

37Ydar

OR
fiord S 21T% sfigar & H= oo o ®9 H HET h ARAT HifAT
(T ) |

Explain the functions of the Reserve Bank of India as a Central Bank

(any six).
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[5]
Y9a-20 T I & YR W Fha o] SO a9l Fha TR 39k 1

HITC : [6]
. a4 UL (RS )

() TS TEHE 3T = 45,000

(i) TorEmERe == — 7,000

(ifi) AT - 12,000

(iv) T - 10,000

Find out Gross Domestic Product and Gross National Product on the

basis of the following information :

SL.No. Items Rs. (in Crore)
(/) Net national product — 45,000
(if) Depreciation expenditure  — 7,000
(iii) Import — 12,000
(iv) Export - 10,000
3ar
OR

frfafea sfieel @ oma fafy qen a9 fafy g/ ot TEIT S 9
Fifve | I8 ot fag Fifse f AT fafesll g e & 9iom feerd

g

.. e TUI (HASH)
() RS UM - 60,000
(i) e - 800
(iii) - 18,000
(iv) g foeef fam - 4,000
(v) @il - 45,000
(vi) Fha R e - 16,800
(vii) = - 9,000
(viii) T - 8,000
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[6]
Find out the Gross National Product by Income and Expenditure

Methods and prove that results are same by both the methods :

SI.No. Items Rs. (in Crore)
(i) Domestic consumption — 60,000
(ii) Depreciation — 800
(7ii) Profit — 18,000
(iv) Net investment from abroad — 4,000
(v) Wages — 45,000
(vi) Gross domestic investment - 16,800
(vii) Interest — 9,000
(viii) Rent — 8,000

qof gfifiren 9 qou fraio 61 frifea fomgeti & siaia T Sifse : [242+2=6]

(37) =% AT

(&) =& I g

(@) =% =t A 9 gfd § dqem

Explain the price determination in the perfect competition under the
following heads :

(a) Demand of goods

(b) Supply of goods

(c¢) Equilibrium of supply and demand of goods

sfear
OR

T § g 1 SeH qod T 31 J9TE Sl € ? 3@ R 9Hest |

What is the effect of shift in demand on equilibrium price? Explain

with diagram.

[6]
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Yg-22  THITYSR Faaima 16 Tedier § oT=<R fafan | [6]
Write the differences between Monopolistic competition and

Oligopoly.

arerar
OR
qui yfcrenfirar wef Tqul sfaaifitan § saw fafe (€ 8:) 1 [1+1+1+1+1+1=6]

Write the distinction between Perfect competition and Imperfect

competition (any six).

Y9i-23 T % W & e fafaw (i 7)) | [1+1+1+1+1+1=6]

Write exceptions of the rule of demand (any six).

37ear
OR

T Y ShIHd T bl GHITd 8 ol ek i TeIlET (hiE B7) |

Write down the factors affecting price elasticity of demand

(any six).

UA-24 U ST S TGS B SUET FA F AU 3=z © 1 AT a=ged H
I HAT: T 4 AATT 5§ | ST &Y 3T T 20 T |

(i) S @ o HHiR o fafia |
(i) UM AfS TI FHYUl ST A% 1 R A F <, 1 98 ST fohat

AT T ST R Fehell © 2
(ifi) AT AfS STAT FHYOT 3T % 2 T L <, A1 98 IHhI Tkt
HSAT 1 SYHNT X Fehell § ?
(iv) SIS @1 St YTl F1 2 [14+2+2+1=6]
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[8]
A consumer is willing to consume two goods. Both items are priced

at ¥ 4 and T 5 respectively. The income of the consumer is ¥ 20.
(/)  Write the equation of the budget line.

(if) If the consumer spends his entire income on item 1, how much

quantity can he consume?

(iii) 1f the consumer spends his entire income on item 2, how much

quantity can he consume?
(iv) What is the slope of the budget line?
HYdar
OR

I % 2 i HITd H Th T i RGBT, T a%g 1 ! Hiod ° AR
YT hi 2T H g YREd i &, dl doie W1 § 331 Yied- S ?

If the price of item 2 falls by one rupee, but there is no change in the
price of item 1 and the income of the consumer, then what will be the

change in the budget line?

oooooooooo

[6]
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